UDC 517.957

NONLINEAR HYPERBOLIC EQUATIONS WITH CHARACTERISTIC RING OF DIMENSION 3

R.D. MURTAZINA

Abstract. The paper provides a method of classification of the Darboux integrable nonlinear hyperbolic equations $u_{xy} = f(u, u_x, u_y)$ based on investigation of the characteristic pairs of the Lie rings. Constructive conditions on the right-hand side f of the equation with the characteristic ring of the dimension three are obtained. These equations possess secondorder integrals. In particular, a list of equations satisfying the constructive conditions is given for the equation $u_{xy} = \varphi(u)\psi(u_x)h(u_y)$. Formulae of x - and y-integrals are given for these equations.

Keywords: integrals, characteristic ring, vector fields

1. INTRODUCTION

The object of this paper is to study the equation with two independent variables of the form

$$u_{xy} = f(u, u_x, u_y). \tag{1}$$

It is known that there are two types of integrable equations (1). The first type includes the wave equation $u_{xy} = 0$, as well as the Liouville equation $u_{xy} = e^u$ and its numerous analogues. The most famous equation of the second type is the sine-Gordon equation $u_{xy} = \sin u$.

Equations of the first type were investigated by classics of mathematics of 18-19 century such as Darboux, Euler, Lagrange, Liouville, Laplace, Lee, Jacobi, Goursat [1]–[3] and are referred to as Darboux integrable equations. In 1967, a new fundamental method for integrating non-linear evolution partial differential equations was discovered by Gardner, Greene, Kruskal and Miura, namely the inverse scattering method (see [4]–[6]). The latter led to the development of the theory of exact integration of equations of the second type.

The method related to the characteristic ring is used to solve the classification problem in the present paper. Ideas of this algebraic approach were suggested in the classical works by Darboux, Goursat, Vessiot and others (see [1]-[3], [7]-[8]) however, the final formulation is relatively recent (see [9]-[13]).

The constructive conditions on the right-hand side of equations (1) with the Lie characteristic ring of the dimension three are obtained. These equations possess the x- and y-integrals of the second order (see [14]).

2. The Lie ring of dimension 3

Let us consider equation (1), possessing the the x-integral of the second order $w = w(u, u_x, u_{xx})$.

Let us introduce the notation:

$$u_1 = u_x, \overline{u}_1 = u_y, u_2 = u_{xx}, \overline{u}_2 = u_{yy}, u_3 = u_{xxx}, \overline{u}_3 = u_{yyy}, \dots$$

[©] R.D. Murtazina 2011.

The work is supported by RFBR (grants 10-01-91222-ST-a, 11-01-97005-r-Volga region-a). Submitted on 15 July 2011.

R.D. MURTAZINA

Let us change from the variables $\overline{u}_1, u, u_1, u_2, u_3, \ldots$ to the variables $\overline{u}_1, u, u_1, w, w_1, w_2, \ldots, w_n, \ldots$. On a set of locally analytic functions depending on a finite number of variables $\overline{u}_1, u, u_1, w, w_1, w_2, \ldots, w_n, \ldots$ the operator of total differentiation with respect to the variable y takes the form

$$\overline{D} = \overline{u}_2 \frac{\partial}{\partial \overline{u}_1} + \overline{u}_1 \frac{\partial}{\partial u} + f \frac{\partial}{\partial u_1} = \overline{u}_2 X_1 + X_2.$$

The operators X_1 and X_2 generate the Lie ring. We have

$$[X_1, X_2] = \frac{\partial}{\partial u} + f_{u_1} \frac{\partial}{\partial u_1} = X_3.$$

We can see that the fields X_1, X_2, X_3 generate the Lie ring basis.

It follows from expressions for X_1, X_2, X_3 that

$$\frac{\partial}{\partial u_1} = \frac{1}{f - \overline{u}_1 f_{\overline{u}_1}} \left(X_2 - \overline{u}_1 X_3 \right).$$

Then,

$$[X_1, X_3] = \frac{f_{\overline{u}_1}\overline{u}_1}{f - \overline{u}_1 f_{\overline{u}_1}} \left(X_2 - \overline{u}_1 X_3 \right),$$
$$[X_2, X_3] = \frac{\overline{u}_1 f_{u\overline{u}_1} + f_{fu_1\overline{u}_1} - f_u - f_{u_1} f_{\overline{u}_1}}{f - \overline{u}_1 f_{\overline{u}_1}} \left(X_2 - \overline{u}_1 X_3 \right).$$

Now let us turn from the variables \overline{u}_1 , u = v, $u_1 = v_1$, w, w_1 , w_2 , ..., w_n , ... to the variables \overline{u}_1 , u, u_1 , u_2 , u_3 , The following relations hold:

$$\frac{\partial}{\partial u} = \frac{\partial}{\partial v} + w_u \frac{\partial}{\partial w} + w_{1u} \frac{\partial}{\partial w_1} + \dots,$$
$$\frac{\partial}{\partial u_1} = \frac{\partial}{\partial v_1} + w_{u_1} \frac{\partial}{\partial w} + w_{1u_1} \frac{\partial}{\partial w_1} + \dots,$$
$$\frac{\partial}{\partial u_2} = w_{u_2} \frac{\partial}{\partial w} + w_{1u_2} \frac{\partial}{\partial w_1} + \dots, \dots$$

Let us denote by Z the field X in the new coordinate system where the operator \overline{D} is rewritten in the form

$$\overline{D} = \overline{u}_2 \frac{\partial}{\partial \overline{u}_1} + \overline{u}_1 \frac{\partial}{\partial u} + f \frac{\partial}{\partial u_1} + Df \frac{\partial}{\partial u_2} + \ldots = \overline{u}_2 Z_1 + Z_2.$$

We have

$$Z_3 = [Z_1, Z_2] = \frac{\partial}{\partial u} + f_{\overline{u}_1} \frac{\partial}{\partial u_1} + (Df)_{\overline{u}_1} \frac{\partial}{\partial u_2} + \dots$$

Commutators of the vector fields Z_1, Z_2, Z_3 have the form

$$[Z_1, Z_3] = \frac{f_{\overline{u}_1 \overline{u}_1}}{f - \overline{u}_1 f_{\overline{u}_1}} (Z_2 - \overline{u}_1 Z_3),$$

$$[Z_2, Z_3] = \frac{\overline{u}_1 f_{u\overline{u}_1} + f_{f_{u_1}\overline{u}_1} - f_u - f_{u_1} f_{\overline{u}_1}}{f - \overline{u}_1 f_{\overline{u}_1}} (Z_2 - \overline{u}_1 Z_3).$$
(2)

Since the operators D and \overline{D} commute

$$[D,\overline{D}] = \overline{D}f \cdot Z_1 + \overline{u}_2[D,Z_1] + [D,Z_2] =$$
$$= (f_u\overline{u}_1 + ff_{u_1} + \overline{u}_2f_{\overline{u}_1})Z_1 + \overline{u}_2[D,Z_1] + [D,Z_2],$$

then,

$$[D, Z_1] = -f_{\overline{u}_1}Z_1, \quad [D, Z_2] = -(f_u\overline{u}_1 + ff_{u_1})Z_1,$$

and using the Jacobi identity, we have

$$\begin{split} [D,Z_3] &= -f_{\overline{u}_1}Z_3 - (f_u + f_{u_1}f_{\overline{u}_1})Z_1, \\ [D,[Z_1,Z_3]] &= Z_3(f_{\overline{u}_1})Z_1 - 2f_{\overline{u}_1}A(Z_2 - \overline{u}_1Z_3) - \\ -Z_1(f_{\overline{u}_1})Z_3 - Z_1(f_u + f_{u_1}f_{\overline{u}_1})Z_1, \\ [D,[Z_2,Z_3]] &= Z_3(f_u\overline{u}_1 + ff_{u_1})Z_1 - (f_u\overline{u}_1 + ff_{u_1})A(Z_2 - \overline{u}_1Z_3) - \\ -Z_2(f_{\overline{u}_1})Z_3 - f_{\overline{u}_1}B(Z_2 - \overline{u}_1Z_3) - Z_2(f_u + f_{u_1}f_{\overline{u}_1})Z_1 + (f_u + f_{u_1}f_{\overline{u}_1})Z_3, \end{split}$$

where $A = \frac{f_{\overline{u}_1}\overline{u}_1}{f - \overline{u}_1 f_{\overline{u}_1}}, \quad B = \frac{\overline{u}_1 f_{u\overline{u}_1} + f f_{u_1}\overline{u}_1 - f_u - f_{u_1} f_{\overline{u}_1}}{f - \overline{u}_1 f_{\overline{u}_1}}.$ The correlations (2) are satisfied if ad only if

$$[D, [Z_1, Z_3]] = [D, A(Z_2 - \overline{u}_1 Z_3)], \quad [D, [Z_2, Z_3]] = [D, B(Z_2 - \overline{u}_1 Z_3)].$$

Similar reasoning holds for the y-characteristic Lie ring. The following statement is true.

Theorem 1. Equation (1) has x- and y-integrals of the second order if the following relations hold:

$$A_{u_1} = 0, \quad A_u u_1 + A_{\overline{u}_1} f = -2f_{\overline{u}_1} A, \tag{3}$$

$$B_{u_1} = 0, \quad B_u u_1 + B_{\overline{u}_1} f = -(f_u \overline{u}_1 + f f_{u_1}) A - f_{\overline{u}_1} B, \tag{4}$$

where $A = \frac{f_{\overline{u}_1}\overline{u}_1}{f - \overline{u}_1 f_{\overline{u}_1}}, \quad B = \frac{\overline{u}_1 f_{u\overline{u}_1} + f f_{u_1}\overline{u}_1 - f_{u-1} f_{u_1} f_{\overline{u}_1}}{f - \overline{u}_1 f_{\overline{u}_1}}.$ $\overline{A} = 0, \quad \overline{A} = -\frac{\overline{A}}{\overline{A}} =$

$$\overline{A}_{\overline{u}_1} = 0, \quad \overline{A}_u \overline{u}_1 + \overline{A}_{u_1} f = -2f_{u_1} \overline{A}, \tag{5}$$

$$\overline{B}_{\overline{u}_1} = 0, \quad \overline{B}_u \overline{u}_1 + \overline{B}_{u_1} f = -(f_u u_1 + f f_{\overline{u}_1})\overline{A} - f_{u_1}\overline{B}, \tag{6}$$

where $\overline{A} = \frac{f_{u_1 u_1}}{f - u_1 f_{u_1}}, \quad \overline{B} = \frac{u_1 f_{u u_1} + f_{u_1 \overline{u}_1} - f_u - f_{u_1} f_{\overline{u}_1}}{f - u_1 f_{u_1}}.$

Proof. The relation $[D, [Z_1, Z_3]] = [D, A(Z_2 - \overline{u}_1 Z_3)]$ is equivalent to the following system of equations

$$Z_{3}(f_{\overline{u}_{1}}) - Z_{1}(f_{u} + f_{u_{1}}f_{\overline{u}_{1}}) + Af_{u_{1}}(f - \overline{u}_{1}f_{\overline{u}_{1}}) = 0,$$

$$DA + 2f_{\overline{u}_{1}}A = 0,$$

$$DA \cdot \overline{u}_{1} + 2Af_{\overline{u}_{1}}\overline{u}_{1} - Z_{1}(f_{\overline{u}_{1}}) + A(f - \overline{u}_{1}f_{\overline{u}_{1}}) = 0,$$
(7)

and $[D, [Z_2, Z_3]] = [D, B(Z_2 - \overline{u}_1 Z_3)]$ is rewritten as follows:

$$Z_{3}(f_{u}\overline{u}_{1} + ff_{u_{1}}) - Z_{2}(f_{u} + f_{u_{1}}f_{\overline{u}_{1}}) + Bf_{u_{1}}(f - \overline{u}_{1}f_{\overline{u}_{1}}) = 0,$$

$$DB + Bf_{\overline{u}_{1}} + A(f_{u}\overline{u}_{1} + ff_{u_{1}}) = 0,$$

(8)

$$DB \cdot \overline{u}_1 + Bf + f_u + f_{u_1}f_{\overline{u}_1} + A\overline{u}_1(f_u\overline{u}_1 + ff_{u_1}) - Z_2(f_{\overline{u}_1}) = 0.$$

The system of equations (7), (8) is equivalent to the system

$$DA + 2f_{\overline{u}_1}A = 0,$$

$$DB + Bf_{\overline{u}_1} + A(f_u\overline{u}_1 + ff_{u_1}) = 0.$$

Whence, (3) and (4) hold. Likewise, considering the *y*-characteristic Lie ring, one obtains (5) and (6). The theorem is proved.

R.D. MURTAZINA

3. CLASSIFICATION OF EQUATIONS

Let us consider classes of equations, satisfying the conditions (3) - (6).

Let us assume that the right-hand side Equation (1) depends only on u. According to (3) – (6), one has

$$A = 0, \quad B = -\frac{f'}{f}, \quad \overline{A} = 0, \quad \overline{B} = -\frac{f'}{f}, \quad B'u_1 = 0, \quad \frac{f'}{f} = C_1$$

for the equation $u_{xy} = f(u)$. Then, $f = C_2 e^{C_1 u}$, where C_1, C_2 are constants, $C_2 \neq 0$. Thus, the Liouville equation $u_{xy} = e^u$ is obtained, and it has second-order integrals

$$w = u_2 - \frac{1}{2}u_1^2, \quad \overline{w} = \overline{u}_2 - \frac{1}{2}\overline{u}_1^2.$$

Let us consider the equation

$$u_{xy} = \varphi(u)\psi(u_1)$$

The formulae (3) – (6) are transformed as follows when $f = \varphi(u)\psi(u_1)$:

$$A = 0, \quad B = -\frac{\varphi'}{\varphi}, \quad \overline{A} = \frac{\psi''}{\psi - u_1 \psi'}, \quad \overline{B} = -\frac{\varphi'}{\varphi},$$
$$B_u u_1 = 0, \quad \overline{A}_{u_1} \psi = -2\psi'\overline{A}, \quad \overline{B}_u \overline{u}_1 = -\varphi' \psi u_1 \overline{A} - \varphi \psi'\overline{B}.$$

Solution of the latter system of equations defines the functions φ and ψ

$$\varphi = C_2 e^{C_1 u}, \quad \psi = C_4 \sqrt{u_1^2 + C_3},$$

where C_i are constants, i = 1, 2, 3, 4 and $C_2 \neq 0, C_3 \neq 0, C_4 \neq 0$.

Dilation of functions u, u_1 and independent variables x, y yields the equation of the form

$$u_{xy} = e^u \sqrt{u_1^2 - 4}$$

with the integrals

$$w = u_2 - \frac{1}{2}u_1^2 - \frac{1}{2}e^{2u}, \quad \overline{w} = \frac{\overline{u}_2 - \overline{u}_1^2 + 4}{\sqrt{\overline{u}_1^2 - 4}}.$$

Let us consider the equation (1) with the right-hand side $f = \varphi(u)\psi(u_1)h(\overline{u}_1)$. Then, the relations (3) – (6) take the form

$$A = \frac{h''}{h - \overline{u}_1 h'}, \quad B = -\frac{\varphi'}{\varphi} = -(\ln \varphi)',$$

$$\overline{A} = \frac{\psi''}{\psi - \overline{u}_1 \psi'}, \quad \overline{B} = -\frac{\varphi'}{\varphi} = -(\ln \varphi)',$$

$$A_{\overline{u}_1} h = -2h'A, \quad B_u u_1 = -\psi h(\varphi' \overline{u}_1 + \varphi^2 \psi' h) A - \varphi \psi h' B,$$

$$\overline{A}_{u_1} \psi = -2\psi'\overline{A}, \quad \overline{B}_u \overline{u}_1 = -\psi h(\varphi' u_1 + \varphi^2 \psi h') \overline{A} - \varphi \psi' h \overline{B}.$$
(9)

It follows from $A = \frac{h''}{h - \overline{u}_1 h'}$ and $A_{\overline{u}_1} h = -2h'A$ that the function h satisfies the equation $h' = \frac{C_1 \overline{u}_1}{h} + \gamma_1$, where C_1 , γ_1 are constants. Likewise, $\overline{A} = \frac{\psi''}{\psi - \overline{u}_1 \psi'}$ and $\overline{A}_{u_1} \psi = -2\psi'\overline{A}$ entail that the function ψ is such that the equation

$$\psi' = \frac{C_2 u_1}{\psi} + \gamma_2,$$

holds, where C_2 , γ_2 are constants. Let us define the functions A and \overline{A} as well

$$A = \frac{C_1}{h^2}, \quad \overline{A} = \frac{C_2}{\psi^2}.$$

Let us rewrite the sixth and the eighth equations of the system (9) in the form

$$(C_1 C_2 \varphi^2 - (\ln \varphi)'') u_1 = (\gamma_1 \varphi' - C_1 \gamma_2 \varphi^2) \psi$$
$$(C_1 C_2 \varphi^2 - (\ln \varphi)'') \overline{u}_1 = (\gamma_2 \varphi' - C_2 \gamma_1 \varphi^2) h$$

Since $h - \overline{u}_1 h' \neq 0$ and $\psi - u_1 \psi' \neq 0$ then,

$$C_1 C_2 \varphi^2 - (\ln \varphi)'' = 0, \quad \gamma_1 \varphi' - C_1 \gamma_2 \varphi^2 = 0, \quad \gamma_2 \varphi' - C_2 \gamma_1 \varphi^2.$$
 (10)

If $\gamma_1 = 0$ then $\gamma_1 \gamma_2 = 0$ and $\gamma_2 \varphi' = 0$. Let $\gamma_2 = 0$. Then, the functions $\varphi(u), \psi(u_1), h(\overline{u}_1)$ satisfy

$$(\ln \varphi)'' = C_1 C_2 \varphi^2, \quad h' = \frac{C_1 \overline{u}_1}{h}, \quad \psi' = \frac{C_2 u_1}{\psi}$$

If $\gamma_2 \neq 0$ then, $C_1 = \varphi' = h' = 0$ $(f = \widetilde{\psi}(u_1))$. Let us assume now that $\gamma_1 \neq 0$. If $\gamma_2 \neq 0$ then,

$$\varphi' = \frac{C_1 \gamma_2}{\gamma_1} \varphi^2, \quad \varphi' = \frac{C_2 \gamma_1}{\gamma_2} \varphi^2, \quad (\ln \varphi)'' = C_1 C_2 \varphi^2.$$

Whence, $C_1\gamma_2^2 = C_2\gamma_1^2$. If $\gamma_2 = 0$ then, $C_2 = \varphi' = 0$ $(f = \widetilde{\psi}(u_1)\widetilde{h}(\overline{u}_1))$.

Thus, the following statement holds.

Lemma 1. The characteristic Lie ring of the equation $u_{xy} = \varphi(u)\psi(u_1)h(\overline{u}_1)$ has the dimension three if and only if the functions $\varphi(u), \psi(u_1), h(\overline{u}_1)$ satisfy one of the following conditions:

- either

$$(\ln\varphi)'' = C_1 C_2 \varphi^2, \quad h' = C_1 \frac{\overline{u}_1}{h}, \quad \psi' = C_2 \frac{u_1}{\psi}; \tag{11}$$

- or

$$\varphi' = \frac{C_2 C_3}{C_4} \varphi^2, \quad h' = C_1 \frac{\overline{u}_1}{h} + C_3, \quad \psi' = C_2 \frac{u_1}{\psi} + C_4.$$
 (12)

Here C_1, C_2, C_3, C_4 are constants.

The substitution $\varphi \to \frac{\varphi}{\sqrt{C_1 C_2}}, \quad h \to \sqrt{C_1}h, \quad \psi \to \sqrt{C_2}\psi$ reduces the formulae (11) to the form

$$(\ln \varphi)'' = \varphi^2, \quad h' = \frac{u_1}{h}, \quad \psi' = \frac{u_1}{\psi}.$$

The equation $u_{xy} = \varphi(u)\sqrt{u_1^2 + \beta_1}\sqrt{\overline{u}_1^2 + \beta_2}$, where the function φ is such that $(\ln \varphi)'' = \varphi^2$ and β_1, β_2 are constants, has integrals of the second order

$$w = \frac{u_2}{\sqrt{u_1^2 + \beta_1}} - \varphi \sqrt{u_1^2 + \beta_1}, \quad \overline{w} = \frac{\overline{u}_2}{\sqrt{\overline{u}_1^2 + \beta_2}} - \varphi \sqrt{\overline{u}_1^2 + \beta_2}$$

The substitution $\varphi \to \frac{C_4 \varphi}{C_2 C_3}$, $h \to \sqrt{C_1} h$, $\psi \to \sqrt{C_2} \psi$ reduces the formulae (12) to the form $(\widetilde{C}_3 = \frac{C_3}{\sqrt{C_1}}, \ \widetilde{C}_4 = \frac{C_4}{\sqrt{C_2}})$

$$\varphi' = \varphi^2, \quad h' = \frac{\overline{u}_1}{h} + \widetilde{C}_3, \quad \psi' = \frac{u_1}{\psi} + \widetilde{C}_4.$$

Second-order integrals for the equation $u_{xy} = -\frac{1}{u+\alpha}\psi(u_1)h(\overline{u}_1)$, where the functions ψ and hsatisfy the equations

$$\psi' = \frac{u_1}{\psi} + \widetilde{C}_4$$
 и $h' = \frac{\overline{u}_1}{h} + \widetilde{C}_3$,

respectively, and α is a constant have the form

$$w = \frac{u_2}{\psi} - \frac{\psi}{u}, \quad \overline{w} = \frac{\overline{u}_2}{h} - \frac{h}{u}.$$

BIBLIOGRAPHY

- 1. E. Goursat Legon sur J'integretion des equations aux derivees partielles du second ordre a deux variables independantes Hermann. Paris. 1896. 200 p.
- G. Darboux Lecons sur la théorie générale des surfaces et les applications geometriques du calcul infinitesimal. Paris: Gauthier-Villars. 1896. V. 1 - 4. 513 p., 579 p., 512 p., 547 p.
- 3. E. Goursat Recherches sur quelques equations derivees partielles du second ordre Annales de la faculte des Sciences de l'Universite de Toulouse 2 serie. 1899. V. 1. № 1. P. 31–78.
- 4. V.E. Zakharov, S.V. Manakov, S.P. Novikov, L.P. Pitaevskii *Theory of Solitons: The Inverse* Problem Method Moscow.: Nauka. 1980. 290 p. In Russian.
- 5. M. Ablowitz, H. Segur Solitons and the inverse scattering transform. Moscow. Mir. 1987. In Russian.
- R. Dodd, J.C. Eilbeck, J.D. Gibbon, H.C. Morris Solitons and Nonlinear Wave Equations. Moscow.: Mir. 1988. 696 p. In Russian.
- 7. E. Vessiot Sur les equations aux derivees partialles du second order, F(x, y, p, q, r, s, t) = 0, integrables par la methode de Darboux // J. Math. Pure Appl. 1939. V. 18. Nº 9. P. 1–61.
- 8. E. Vessiot Sur les equations aux derivees partialles du second order, F(x, y, p, q, r, s, t) = 0, integrables par la methode de Darboux // J. Math. Pure Appl. 1942. V. 21. Nº 9. P. 1–68.
- 9. A.B. Shabat and R.I. Yamilov *Exponential systems of the type I and the Cartan matrices* // Preprint, Soviet Academy of Sciences, Bashkir Branch, Ufa. 1981. 23 pp. (in Russian).
- 10. I.T. Habibullin *Characteristic algebras of fully discrete hyperbolic type equations*, Symmetry, Integrability and Geometry: Methods and Applications, no. 1, paper 023, 9 pages, (2005) // arxiv:nlin.SI/0506027.
- R.D. Murtazina Nonlinear hyperbolic equations and characteristic Lie algebras // Proceedings of the Institute of Mathematics and Mechanics, Ural Branch of RAS. 2007. V. 13. № 4. P. 102–117. In Russian.
- I.T. Habibullin, N. Zheltukhina, A. Pekcan On the classification of Darboux integrable chains // J. Math. Phys. 2008. V. 49. № 10. 40 p.
- O.S. Kostrigina, A.V. Zhiber Darboux-integrable two-component nonlinear hyperbolic system of equations, J. Math. Phys. 52:033503 suppl. (2011) doi:10.1063/1.3559134. 32 p.
- N.V. Gareeva, A.V. Zhiber Second-order integrals for hyperbolic equations and evolutionary equations // Proceedings of the International Conference "Algebraic and analytic methods in the theory of differential equations". Orel, OSU. 1996. P. 39–42.

Regina Dimovna Murtazina, Ufa State Aviation Technical University, K.Marx Str., 12, 450000, Ufa, Russia E-mail: ReginaUFA@yandex.ru

Translated from Russian by E.D. Avdonina.